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[R5 B e ek M SE 4k (R ek X))

Vol =
FER N E
T4 | A6 R L E T 5 kXA B T
TSy « TfE - FER B {7 ¥ & & # A bl A iR
FLLt - =X 1 52, 238, 404
LT = 1 30, 855, 840
HRHEI T = 1 10, 362, 650 | A 4, 000 m3
THp A7 iy L EEME 5, 000m3LL 10,
000m3 AT ;
b E 3,970 m3
0 CaBl- AR Y L&)
b 30 m3
i CaBl- EHIRY £5T)
PRI (1ICT) = 1 10, 770, 400 | $EH!I (ICT) 4,000 m3
W 47" vhyb BEEM L 5, 000m3LL 10, 000m3
A
b E 4,000 m3
0 Cadl- EHIRY £5T) ;
Bt = 1 158, 790 | B&IA (FLt8) ik - 30 m3
2. 5mATH
P v T = 1 9,564, 000 | 7% 4Ly 1 X
LR L 2 1 19, 880, 152
e+ T 2 1 32,112 |FR¥EY 1 X
+4)
HEL 1 2V
+4)
ayy)=b7" my) T (RE77 1y 3E) = 1 3,225,504 |7 ny/iE 83 m2
150kg/MEAT MR #2350 BABES%EA
AR RC-40 18-8-40 (F4F) SHE/ky—ME |
H Hx 4 m2
T W B i =10 ;
Bkt ar 27 ) —k 1 (E10
18-8-40 (@ifF) HAHER%IRA ;
JEla 7 ) —k 19 m
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s Sefe =
FEAENGRE
T4 | 06 4R LE) T A X/ R T3
TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
18-8-40 (BFJF) HEHERIB%IRA ;
Bl HT Ry ) - 22 m
18-8-40 (754F) JENE 49cm @& 50cm BE
BEF %R A ;
M EY T Y 1 16,622,536 |[fE=> 7 U— | 1,574 m2
(BB B s B
18-8-40 (BF) t=0~200mm EBAEERI3%IEA ;
B E T = 1 818, 792
BB T = 1 818,792 | BisRFT L EL 1 (B
24-12-40 (B IF) HABEEIB%IBA BHAIT9wvTY
40~0 ;
HEYE T Y 1 160, 820
s EEE L T Y 1 160, 820 | 27— HEUEE L sk ALER 11 m3
IAAEIEY |
EIRT Y 1 136, 520
#HIRT = 1 136,520 |z 27 U—F 4 m3
18-8-40 (&JF) HEABEBWEN ;
A Y 1 386, 280
AEEHE T Y 1 386, 280 | AZ Wk B Y B 1 =
[ERAE Xy = 1 52, 238, 404
IR 2 1 6, 639, 995
BISTI S = 1 1,947, 995
Bl s gy 2 1 814,995 | t-HEikBAty 1 X
PRSP BE(ICT) 1 =
YATLRIE 2 (ICT) 1 F2V
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R PERE
THEL | A6 R LE) R E kXS B fif T
THEXSy - THE - FE5 H7 & & # i Gl 2 N

BUGBREIUEL (REH L) 2V 1 1,133,000
sty (R L) 2V 1 4, 692, 000
ol T 2V 1 58, 878, 399
e R E20 1 17, 164, 000
T AT 2V 1 96, 960, 924
— e PR E20 1 15,079, 076
N E20 1 112, 040, 000
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Vol =
FER N E
T4 | A6 R L E T 5 kXA B T
TSy « TfE - FER B {7 ¥ & & # A bl A iR
FLLt - =X 1 13, 320, 525
FNET = 1 1, 440, 690
HRHEI T = 1 158, 680 | #EH! 40 m3
THp EFRRIAN OB /NI (REHELIAY)
b 40 m3
0 Cadl- EHIRY £5T) ;
Bt 2 1 1,282,010 |B&A (B ME+ 190 m3
2. 5mAT ;
b 210 m3
0 Cabl- EHIRY £5Te) ;
FHIA Ob-27) 210 m3
+Hw 550, 000m3 AT ;
R T = 1 10, 649, 941
e+ T 2 1 400, 520 |FRIEY 1 X
+4)
HEL 1 2V
+4)
T wb AT 1 X
0 Cadl- EHIRY £5T) ;
P v T = 1 688,984 | L ibAETEN 1 2V
0 CaBl- EHIRY £5Te) ;
¥ LWLy 1 X
VRIS 2 1 9,560,437 |32 U — MLk 468 m2
18-8-40 (BB ¥F) t=500 BAEEI%IEAN ;
a7 U — M 12 m2
18-8-40 (FB¥F) t=150  BABEI%EA ;
T 1 =X
— A
H Hx 48 m2
VR WS B Ak =10 ;
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== /oA =
FEAENRE
T4 | 06 4R LE) T A X/ R T3
TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
AN = T = 1 869, 914
7 VERAMIIA = L = 1 869,914 | 7" V¥vAM v/A 3 m
WIE 2.5m MNE 1.5m ;
g 0.7 m3
18-8-40 (BJF) EEAFEIB%EA ;
PERE T =Y 1 330, 640
7" VR A NERE T Y 1 330, 640 |7 VEyaMgERE 8 m
Mg 200cm 1.0mZEEZ2. 0mLA T ;
RE% T = 1 29, 340
B EHT 2 1 29, 340 | ZEFHEEANKE 1 F2V
[ERE ALy = 1 13, 320, 525
HiE 2 2 1 1, 670, 000
ESEIGE 2 1 192, 000
BGRESGESE (5 L) = 1 192, 000
B (FEHL) = 1 1, 478, 000
T = 1 14, 990, 525
Bl gy 2 1 5, 928, 000
T =5l = 1 20, 918, 525

-5 - E ta2@d Ui




